NCM EXH{E{E| 2| HE AlZ|EHS

g YL TE HEZ Al2|gHS 7= H| 1
204 11 118 24Y 2N = NCM 7000 NCMRABBDO0001~0400 400 A=
204 1€ 118 242 2R & NCM 11000 NCMRABBE0001~0600 600 2lZ
204 12 128 16 2N = NCM 11000 NCMRABRE0001~0430 430 2[Z
204 12 128 24¢ M| = NCM 11000 NCMRABRE0431~0700 270 23
214 018 018 19¢ A2 NCM 7000 NCMRABRDO0001~0300 300 2l=
214 01 018 19¢ M| = NCM 7000 NCMRBABDO0021~0408 388 23
2149 018 01g 19¢ 2N = NCM 11000 NCMRBABE0021~0750 730 2[Z
214 02 02 08¢ M| = NCM 7000 NCMRBARDO0001~0410 410 M=
213 02& 02¢ 17¢ 2N = NCM 11000 NCMRBARE0001~1200 1200 NE=






